
SC11711SC720-HP 

VeQRR2_0080-00319 

February 12, 2021 

Attn.: Customer 

CANON ANELVA CORPORATION 

Quality Management Div. 

 

 

Discontinuation Notice of Digital Pressure Switches by SMC Corporation 

 

Thank you for using CANON ANELVA products. 

We inform you the discontinuation of Digital Pressure Switches by SMC Corporation 

equipped to our tools. 

We will continually improve the product quality and reliability to ensure customer satisfaction.  

                                                 

 

NOTE 

 

Discontinued part and its substitute part 

No. 
Discontinued Parts Substitute Parts 

Model Model 

1 ISE30A Series 

ISE20・20A Series 

2 ISE40A Series 

3 ISE80（H） Series ISE20C（H）Series 

4 ZSE30A（F）Series 

ZSE20・20A（F）Series 

5 ZSE40A（F）Series 

6 ZSE80（F）Series ZSE20C（F）Series 

※About the model, please look at the attached sheet. 

   

  

 

 

Feel free to inquire of our sales or service representatives for details.  

https://anelva.canon/english/contacts/ 

 

 

 

 

https://anelva.canon/english/contacts/


Details of the model VeQRR2_0080-00319  Attached sheet(1/2)

Model Part No. Model Remarks

1 ISE80-02L-A-M-X510  N63101352 ISE20C-X-M-02L-W-X510

2 ISE80-02L-B-M-X510  N63101364 ISE20C-Y-M-02L-W-X510

3 ISE80-A2L-A-M  N63101388 ISE20C-X-M-A2L-W

4 ISE80-A2L-B-M N63101390 ISE20C-Y-M-A2L-W

5 ISE80-02-B-M-X510 N63101467 ISE20C-Y-M-02-W-X510

6 ISE80-A2-B-M  N63101479 ISE20C-Y-M-A2-W

7 ISE80-02L-B-M N63101546 ISE20C-Y-M-02L-W

8 ISE80-A2L-A-MA N63101584 ISE20C-X-M-A2L-WA3 Need to check the bracket dimension.

9 ISE80-A2L-B-MA N63101596 ISE20C-Y-M-A2L-WA3 Need to check the bracket dimension.

10 ISE80-02L-R-M-X510  N63101780 ISE20C-R-M-02L-W-X510

11 ISE80-A2L-R-M  N63101792 ISE20C-R-M-A2L-W

12 ISE80-A2-R-M  N63101895 ISE20C-R-M-A2-W

13 ISE80-A2-N-M N63101900 ISE20C-X-M-A2-W

14 ISE80-02-N-M  N63101912 ISE20C-X-M-02-W

15 ISE80-A2-T-M N63101962 ISE20C-T-M-A2-W

16 ISE80-02-P-M  N63101998 ISE20C-Y-M-02-W

17 ISE80-A2-T-M-X501 N63102045 ISE20C-T-M-A2-W-X502

18 ISE80-02-R-MC-X501  N63102069 ISE20C-R-M-02-WB-X502

19 ISE80-A2-R-MC-X501  N63102071 ISE20C-R-M-A2-WB-X502

20 ISE80-02-R-MB-X501  N63102083 ISE20C-R-M-02-W-X502

21 ISE80-02-B-M  N63102095 ISE20C-Y-M-02-W

22 ISE80-02-R-M  N63102112 ISE20C-R-M-02-W

ISE20C-X-M-02-WB The panel cut dimension will change. (□36→□31)

ISE20C-X-M-02-WB-X521 Equivalent to the conventional panel cut dimension. (□36)

ISE20C-X-M-A2-WB The panel cut dimension will change. (□36→□31)

ISE20C-X-M-A2-WB-X521 Equivalent to the conventional panel cut dimension. (□36)

25 ISE80-02-A-M N63102174 ISE20C-X-M-02-W

26 ISE80-A2-A-M N63102186 ISE20C-X-M-A2-W

ISE20C-Y-M-02-WB The panel cut dimension will change. (□36→□31)

ISE20C-Y-M-02-WB-X521 Equivalent to the conventional panel cut dimension. (□36)

28 ISE80-C01-N-M N63102370 ISE20C-X-M-C01-W

29 ISE80-02L-A-M  N63102394 ISE20C-X-M-02L-W

Model Part No. Model Remarks

ISE20-N-M-01-LB For R1/8 male screw.

ISE20-N-M-M5-LB For M5 female screw.

ISE20-N-M-01-L For R1/8 male screw.

ISE20-N-M-M5-L For M5 female screw.

ISE20A-Y-M-01-JB For R1/8 male screw.

ISE20A-Y-M-M5-JB For M5 female screw.

4 ISE30A-C6L-P-MLD N63102289 ISE20-P-M-C6L-LD

5 ISE30A-C6L-N-MLD N63102277 ISE20-N-M-C6L-LD

ISE20-P-M-01-LB For R1/8 male screw.

ISE20-P-M-M5-LB For M5 female screw.

Model Part No. Model Remarks

1 ISE40A-01-X-M-X501 N63102227 ISE20B-X-M-01-W-X500

Substitute Parts

Substitute Parts

Discontinued Parts　（ISE40A Series） Substitute Parts

ISE80-02-N-MC  N63102148

ISE80-A2-N-MC  N63102150

ISE80-02-P-MC N63102198

No.
Discontinued Parts　（ISE80 Series）

N63102203

No.
Discontinued Parts　（ISE30A Series）

23

24

27

No.

ISE30A-01-N-MLB N63102162

ISE30A-01-N-ML N63102021

ISE30A-01-B-MLB N63101974

ISE30A-01-P-MLB

1

2

3

6



Details of the model VeQRR2_0080-00319  Attached sheet(2/2)

Model Part No. Model Remarks

1 ZSE80-A2-R-M  N63102538 ZSE20C-R-M-A2-W

2 ZSE80F-A2L-R N63101405 ZSE20CF-R-A2L-W

3 ZSE80F-A2L-R-M  N63101417 ZSE20CF-R-M-A2L-W

4 ZSE80F-A2L-A-M  N63101431 ZSE20CF-X-M-A2L-W

5 ZSE80F-A2L-B-M  N63101455 ZSE20CF-Y-M-A2L-W

6 ZSE80F-A2L-A-MA  (with bracket) N63101637 ZSE20CF-X-M-A2L-WA3 Need to check the bracket dimension.

7 ZSE80F-A2L-A-MC  (with adapter) N63101649 ZSE20CF-X-M-A2L-WE

8 ZSE80F-A2L-B-MA  (with bracket) N63101651 ZSE20CF-Y-M-A2L-WA3 Need to check the bracket dimension.

9 ZSE80F-A2L-B-MC  (with adapter) N63101663 ZSE20CF-Y-M-A2L-WE

10 ZSE80F-A2L-A-MD (with adapter) N63101675 ZSE20CF-X-M-A2L-WF

11 10-ZSE80F-B2L-A-M  N63101728 10-ZSE20CF-X-M-B2L-W

12 10-ZSE80F-B2-A-M  N63101807 10-ZSE20CF-X-M-B2-W

13 ZSE80F-A2-B  N63101833 ZSE20CF-Y-A2-W

14 ZSE80F-A2L-N-M N63101936 ZSE20CF-X-M-A2L-W

15 ZSE80F-A2-B-M  N63101950 ZSE20CF-Y-M-A2-W

16 ZSE80F-A2-T-M N63102057 ZSE20CF-T-M-A2-W

17 ZSE80A2L-N-M  N63102253 ZSE20C-X-M-A2L-W

18 ZSE80F-A2L-A-M-X500  N63102382 ZSE20CF-X-M-A2L-W-X500

19 ZSE80F-A2-A-M N63102409 ZSE20CF-X-M-A2-W

20 ZSE80F-A2L-B  N63101443 ZSE20CF-Y-A2L-W

21 ZSE80F-C01L-B-A  N63102136 ZSE20CF-Y-C01L-WA3 Need to check the bracket dimension.

22 ZSE80F-A2-R-M  N63102100 ZSE20CF-R-M-A2-W

Model Part No. Model Remarks

ZSE20-N-M-01

- For R1/8 male screw.

- For use with the cables of the conventional series, use the ZS-46-5LA-

X424 conversion cable to connect with the Z/ISE20* series.

ZSE20-N-M-M5

- For M5 female screw.

- For use with the cables of the conventional series, use the ZS-46-5LA-

X424 conversion cable to connect with the Z/ISE20* series.

Substitute Parts

Discontinued Parts　（ZSE30 Series） Substitute Parts

1

No.

No.

ZSE30A-01-N-M N63212357

Discontinued Parts　（ZSE80 Series）


